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KP1000); 2 i [/ &

1200 - 3000 VpR; 1000 A avg

sk sfe sie sie st sk sfe sk sk sk sk sk sk sk sie sk sk sfe sfe sk sk sk sk sk sie sk sk ske sk sfe sk skosk sk sk sk sieosie sk sk sfe sl sk sk sk sk sk sk sk sk sk sfe sk sk sk sk sk sk sk sk sk sk sk sl sk ik sk sk sk skeoske sk sk sk sk siesiesi sk sk skeoske sk sk sk sfeoske sl sk sk skeoskeoskoskok skokokok k

CASE 4T
R
. BT EEH
. R TIR S
. BHMTHLEZ 3000 volts
. BAEdV/t
. EERER
Pl A5 kN 2 8 1EL
W A 4
s | VRRM (D | VDrRM (1) | VRsm (1) .
1200 1200 1200 1325
1400 1400 1400 1525 (1) 50HZ/60zHz1E 5% 3% ik 5 15 ) -40 to +125 °C.
1600 1600 1600 1750 (2) 10 msec. JIk 5&
2000 2000 2000 2200 (3) Tj=125°C.
2600 2600 2600 2800 (4)67 %4 HIEVDRMI IR IT# . Tj=125°C.
3000 3000 3000 3200 5) AEE
Vrrm = S [ 55 52 WEAE HL T (O)IL LT L TH di/dt HUEEIANIMA FiifERS-
Voru =1F 1) T4 WA HL T 397, Section5-2-2-6.5¢E X M &AM
Virsw = S 18] AN EL AT AR s (2)
s . 15 mA
ERRRFEEHMOA | ool | g0 3
s T 280 e dVv/dt (4) 500 V/usec
HEARH
Z H Fi | mAME | BORME | BURME. | SR % M
AP Trav) 1000 A | SINE,180° Fil fiT.=55°C
T A H LT YR | S 1570 A
[N 10 msec (50Hz), IF543E, 180°%F
N=R Nraoy s s
AN IRV R Irsm 13000 A W fh, T, = 125 °C
I’tfl I’t 845000 A’s | 10 msec
AR I 300 mA | Vp=24V;R;= 12 ohms
2SIV Iy 200 mA | Vp_24V;I=25A
[ EBliRYAN 2 Viu 23 1.9 V| Ity =3000 A; Tj=25°C
ML BT (5, 6) di/dt 300 Alps | AEE
HLIE TR (6) di/dt 150 Alps | EE
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PR A PR A e 1 KP1000A= 1200~3000V T2 i 7l &
1%
Z M g | BeME | BOKE | BBE | A %
VAR T T AR FE S D) 26 Pm 200 W | t,=40us
ST IRFE R &R Pgav) 5 W
Vp =6 V;R_ =3 ohms;T; =-40 °C
300 mA | Vp =6 V;R, = 3 ohms;T; = +25
I IA Al LI Ior 200 mA | °C
125 mA Vp = 6 ViR, = 3 ohms;T; =
+125°C
Vp =6 V;R_ =3 ohms;T; =-40 °C
Vp = 6 ViR, = 3 ohms;T; = 0-
> v 125°C
I IA Al L Vor 3 A Vo - Rated Vome Ri = 1000
0.30 A%
ohms;
T,=+125°C
[ m EE W Verm 5 v
FF o< B[]
Z 5| e ME | BOKE | ORME | AT % M
ITM =50 A, VD =67% VDRM
T3 I ) to 1.5 0.7 us | IRk Vg = 30 V; Rg = 10
ohms; t, = 0.1 ps; t, = 20 us
It > 2000 A; di/dt =25 A/us;
SRV . Vi = -5 V; EIIHEE dV/dt =
SIERELE h =- 2 12 ’
RITIT (with Vi =-5 V) fa >0 > Hs 30V/us linear to 67% Vprwm ;
T, = 125 °C; Duty cycle > 0.01%
N Itm > 2000 A; di/dt = 50 A/us;
Mk 325 ™ 5 Us;
}im U(EH:_‘A{}IL Irr A VR > _50 V, T]' — 125 OC
P AL BR A 1
Z M fy | EME | BR[| BE | A % M
4 T, -40 +125 °C
fifi A0 Tug -40 +140 °C
gl e Ro (o) 0.02 °C/W | XL
FEHUHAPH Ro (cs) 0.01 °C/IW | XGLAH
YA T) P 25 kN
i w 456 g
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